
Order of Operations Review  Alg 1H  Name__________________ 

21) 5(5 3(10 6)) 4                        

22) 3(12 15) 20 7      

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

3) 2( 4(5 3) 9) 7                 4) 100 5 2 8 4 7     

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

After completing #1-4, follow these directions: 
Take the answer to #1 and add it to #2.   
Subtract the sum above from the answer to #3. 
Multiply the difference above by -2 and add it to the answer of #4. 
 
Your answer is: 
 
 
 
 


